Explanation of Term

1 layer

> 0.1 x 0.1 x 2 m3 scintillatorZ} 174 £0{7}= module 207E 7|2, EE= ME2Z
LIErS| B ESHe 1 layerg 4.

« 1 stack
> 7IE2 H{E =l layer 1 + MIEZ H{E =l layer 1 & 610 1 stack2 +d.
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> o detector MAHE LXE= 4719| stack=2 F#4.

f 0.1 x 0.1 x 2 m3 scintillator for 1 module
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Explanation of Term

* 1 event
> =MX} 17 £ detector0f| A= event.

* Threshold
> U™ A|ZH 72+ S0 BLLEO| module Of deposit E|&= hitE0| L7l energy 2| $H0| &H
T .

= O - - "1 O
O|AH(> threshold)O| = [, O|£ neutron O] 71 signal 0|2} 7t}

 hitTime
> 98 A7t 7t S0, BtLE2| module Of deposit k| = hitE5 2 A7 =22 FESIY, =8
dep05|t energy 7} threshold & H7|= #=7t9] hit0] s} Ets}= A|7. S 1 module 9|

hitTime 2 2 X|&otC}.

 Clusterization
> 27l O| 42| S 4XI=0| detector Of hitE2 22 M|, geant4 E 0| &
XSSt algorithm S 0| 23lA], LAZI hitS S JtS ot Fats| 22 ZMXE7L L7l hitSo)
“B2|(cluster)’' = —Tl o] STLPN Sk=] I8
> Geant4 simulation 20|A= Al hit=2 MEE &
M3l YHE 92 4 U=Z algon

QO£ g 4 ole AR Ao 5o A

OtSF O X} SHL}.

E
i



Explanation of Term

Veto
counter

: He 1st ond 3rd 4th
/ U Stack Stack Stack Stack
3 .

C Z axis

* Veto counter
» MSHE 7+l 2 Xt=(proton, electron, etc.)= Z2{ L= scintillator.
» Veto threshold(= 3 MeV) O|&2| energy £ deposit o= YAt== 22T

» Beta condition(= Velocity condition)

» Layer & KX|L}HA SdX}= scintillator 0| energy £ deposit StC}(energy loss).
> [t SRl 32 Mkt =& Z{o|C}.






